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Earlier today, at the Golf Classic Open, Tiger Weeds hit a 220 yard second shot from the rough that just skimmed the top of a 90 foot pine tree and went right into the hole, 220 yards away, on the green for an eagle on the 12th fairway.

Max. height: 90 feet 

Max. distance: 220 yds

1. Use regression to find an equation for the motion of the golf ball’s path.

2. Now use matrices to find the equation for the golf ball’s path.

3. Write the equation for the golf ball’s path using the vertex form of the equation for a parabola.
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4. What is the angle at which the golf ball takes off?

5. In order to introduce the parameter of TIME t into this situation, determine what initial vertical velocity a ball would need to reach a maximum height of 90 feet.  
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6. Last, use the diagram above and the information that you have found to write a parametric relation for the ball’s path that incorporates time and relates this parameter to the distance and height that the ball travels.
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